1. | think we should abolish state governments.
With the population in Australia being around 21,000,000 why do we need so many governments, when
countries with populations of in excess of 50,000,000 have only one government with far less people
involved in government. If there were a referendum and the facts were made clear, | am sure people
would support abolishing state governments.

2. Increase the GST and stop collecting personal tax.
The abolishment of personal tax would instantly save a major cost, the savings would mean the increase
in GST may not be severe.

Governments growth is based on creation of jobs within government. The level of ones position and income
in government is based on how many positions he or she can create within his or her sphere of
responsibility.

Thank you.
John Broughton



